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if {FIRTERAG} {
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BIRE: FeATAAFIBT—IZR(0 1 2 3 4HIIKEZR RT3, iE

(System32) 24 ¥ set 1listl {@ 1 2 3 4}

g 1234

(System32) 25 % set length [llength £1i1stl]
=

(System32) 26 % 1If {%length > 3} {

puts “The length of listl is larger than 3"
T elseif {%length == 3} {

puts “"The length of listl is equal to 3™

T else {

puts "The length of 1listl is less than 3"

1
The length of 1listl is larger than 3

(system32) 27 % |
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(Windows) 36 % set listl {3 2 1} FIEDi{E 92
!
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(rlimimj_ijj% Fc-r*ean:h[i Iﬁlistl]{ Fjgyﬁgé%iﬁ;ﬁ
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/ EIMEHIES break 4

> 15/XF&Z( : break
> Ifge: LERENMBINTTE, FEMEIAPBEE
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(Windows) 44 ¥ set listl {3 2 1}
3 21

(Windows) 45 % foreach 1 $£listl {
1f {81 == 2} {

break

h

puts %]

h
3

#]4ai/93

FIEDI{E /93

Break
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> 15751 . continue
> Ifge: (NEERANIRIEIR FTEDIE 93

(Windows) 46 % set listl {3 2 1}

i
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(Windows) 47 % foreach 1 $1istl {

1t {ii == 2} { :

contlnue continue
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puts %1 l
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/ B HIIES-while /

> EAET - while B EIAER e
> Ihge: ANERFMERIMKIZ (REYEIF0) , Bz if—IE{E/2
TR, BRIRNHEAFEMAHSLEREIR, hYwhile
RO PUFHRE— SRR,
FIEDiE 2
(Windows) 33 ¥ set 1 3 1 B i —fa{E91
3 -
(Windows) 34 3% wrilE[{ﬁi > E}]{
»(puts $1
» incr 1 -1; #set 1 [expr $1 -1] FIEN{E91
>} if—/a{E/90
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> IEAET e
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for SEIIat #IMMES BEFFVIIAHNSE IBIAEIR if—E{E2
> Ifjge: WNERFEMEGREMEIEOFLHNTEIR, TR
Kfe, BEFVIBASEH. ARERXHETAR, EEI1F T
WMEFIREMENO, BIRGER, iF—SEA1
(Windows) 35 % for [{set i 3}1{51 :-el}]@incr i -1}} {
puts $1
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/ I FEE8 2N -proc /

> 1.:.%1&_\3 proc R 51% SHFER REEMR
> IfEE FMUAFCIESPRIRE., BPREFBENIINEE,
7’3‘@%’%@% 3,

(EystemEE“ 27 % pl oC ad ﬂ ]
SEL SUM [CXpr
» return $sum Tz 7‘%*5175“]
7
System32) 28 % add 3 4 \
m

System32) 29 % | {7
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> EETE. EAEIEZIMNENTE,
> FEfTE: WFEdEFEXNTE, RAs1ReeEd
EPHinn, FEIATER DN Bk,

> 15<global, AILAEITRERNERS |FHEEREE

(Windows) 27 % set a 1 (Windows) 38 % set a 1

1 1

(Windows) 28 & proc sample {x} { |(Windows) 31 ¥ proc sample {x} {
Elggilaa[c'-:pr i3 + 1] set a [expr 32 +1]

» return [expr $8 + $x] ;E'I:ur“n [expr $a + $x]

> ]

(Windows) 29 % sample 3 (Windows} 32 % sample 3
g can't read "a": no such varlable

(Windows) 3@ % | (Windows) 33 % |
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> IENFRATAN\w, FRIE—PFE. HF. T
> IENFRATEING ,FIRILE— N4

FRTER abcl23

FNEEEX  \w\w\w\d\d\d

ENZEAE  \d\w\w\d\d\d



/e 4

\WAWAW\A\A\AXFPEFIFZEDT, FAIeTLA

ETCLF

N

— R~ =FP=1d

FRTER abcl23

JEE

2 SNSRI TR

FEREEAT  \w+\d+ B \w*\d*



1E
n
| JuiTy
-
1A

*¥ ]
[
+
g
X
Ll
: x*
A
LIZ
=
:;
N
, T
AN
| z~
N
A
IR

=
IE?“%
IEEUi
IES
=
= -
\<:1+\ijC
- g 12
+ * |
\
d
+

J:$
1A




IEMIPCRE-Ei3 4

? RRFIREE —IRILEL,

FENFEERX  \wA\w?\d\d\w\w\d\d
FTER 12ab34

FTER abl2ab34
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> i, BARERFARIFHIFANERNME, (F3(i]sesItic
B TEFRRY=FF

i

A

$

123abcl23

MNd\d\d \d\d\d$
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> BERNEMERHES \sF.
> \sETKIRTHE

FRTER 123 abc 123

FENZFEA  \d+\s\w+\s\d+

> RAMEEAER

B BERERETAFREMEILIA. R,
BRI ERRFFFER /T xxx T B xxx T8 xxx” (X AR FF).
. +\s.+\s.+Fi ] LAPLEL




A RS regexp 4

> 1BIEMST ¢ regexp? switches? exp string? matchVar? ?subMatchVar subMatchVar ...?

> IIgE: EF TR E AR ENFRIATILEL,

» switches:

-nocase G FRBEFHIXEEIN/NEET.
exp IENIERIXT
string FASRIH1TILECHI =455
matchstringZ®~AHIENZFRIV AT B F T
sub 1ZRRIENFRATNFHE— N FRIATVLECRIF /T
sub2 X RENFRIATNFE N FRIATULECHF R ER

YV V. V Y V



VT '

{513 - YA LT &R " abcd 56

(TCl) 39 % regexp {‘\w+\d+} "abc45g”

1
fHRR SR LE—NAF A B UASF SRR ER?

(Tcl) 58 % regexp {~‘d.*\d%} "1 dfsal 1"
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> BT () LB FRT &
HIANRNEIE=1FEE “Snow is 30 years old” H30f#E3 A

(Tcl) &8 % regexp {\s(“d+).*} "Snow 1s 3@ years old" total age
1

(Tcl) 69 % puts total

38 years old

(Tcl) 7@ % puts %age
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Femad1% =a ar |
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H
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> — RSN TR
N . —:-—I—I:

Hlana{a/ 15 =T “Snow is 30 years old”HSnow F130— RIFEIK?

(?cl} g8 % regexp {~(‘\w\s\w+\s(\d+).*} "Snow is 3@ years old™ total name age

1

(Tcl) 81 % puts $total

Snow 1s 3@ years old

(Tcl) 82 % puts £name

SNow

(Tcl) 83 % puts fage
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ITCLAME S A E TR

FEERELUIT=1MES.

» open

> gets

> close




/ saum y

» open
. BEIER  open XM ITHIAT (TSR rEREER, wERSHER, )
- IDEE  FIAMH

> gets
- EEBN gets fileld TEH
« IPgE getsiEfileldFRRAISAFAI F—17, FHEIZITIHETE, FHR

AT (XHEEE-1)

> close
o BRI close fileid

- Ihge RIS
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fHRR : BMEANEIIE

(Tcl) 32 % set INPUTFILE [open file.txt r] P REERTCF TS file. txt
file3sabsse

(Tcl) 33 % while {[gets S$INPUTFILE line] »=8} { )‘Aﬁg_h_'JF'téiZ?j_'liﬂyjﬁtF
> puts "$line"

> I

d

b

C

Eli%i :154 i IE]:SE $INPUTFILE %Iﬂjﬂﬂifﬂetxt




/ SEHIHAE /

{51 ; — N REEANHITE
o file - 3% 3 file - E=&

SR SRER(E) TERLO)
- P REE  HERO)

b hello world

o it

<

(Tcl) 35 % set OUTPUTFILE [open file.txt w]
file3dcdeafe

(Tcl) 36 % puts $OUTPUTFILE “"hello world™
(Tcl) 37 % close SOUTPUTFILE




/ B /

MB XA file. txtHRBTUT . 155 —TCLEIAKHFrBSlackiEZ#.

Slack = -0.051
Slack = -0.234
Slack =-0.311
Slack = -0.056

Slack = -0.434
Slack =-0.316
Slack =-0.151
Slack = -0.524
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MB XA file. txtHRBTUT . 155 —TCLEIAKHFrBSlackiEZ#.

Slack = -0.051
Slack = -0.234
Slack =-0.311
Slack = -0.056

Slack = -0.434
Slack =-0.316
Slack =-0.151
Slack = -0.524

set sum 0

set INFILE [open file.txt 1]

while {[gets $INFILE line] >= 0} {

if {[regexp {*Slack\s+=\s+(-?\d+\.?\d+)}
$line total slack]} {

set sum [expr $sum +$Pslack]

}

}
close $INFILE

puts $sum
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